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s 312,200
< 799,057
s 1,233,024
ZH==E 118,030 603,643 A 485,613
= 51,030
< 15,075
[ia 51,925
401 AIEHI L 20 118,030 603,643 A 485,613
= 51,030
< 15,075
= 51,925
01 A& Bl 107,180 577,176 A 469,996
O ZH=ZX8(25ha) 4,287,200& *25ha 107,180
= 45,605
< 13,448
e 48,127
02 2feldl 10,000 22,000 A 12,000
O dH==d Zdclsd 400, 000& *25ha 10,000
= 5,000
< 1,500
s 3,500
03 AIE2 2 THHI 850 4,467 A3,617
O BH=Zxg ALR0Ul
118,030,000& *0.72% 850
2 425
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OIMEXINE =8 165,610 0 165,610
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[ia 77,000
401 AIEHI L 201 165,610 0 165,610
= 55,610
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01 A& Bl 160,417 0 160,417
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1,860
03 Al& £ HHI 1,193 0 1,193
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01 A& HI 231,264 0 231,264
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34,690
80,943
02 Zeldl 8,000 0 8,000

O 2UuR3dxg Zaltl 400,000& *20ha 8,000
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1,200
2,800
03 A2 2 THHI 1,736 0 1,736
O 2UR3AXE AILRU
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O HRILIRIIRIIAL 1,428,250 *100ha 142,825
= 71,412
[ 21,424
e 49,989
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= 71,412
= 21,424
s 49,989
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O ZRATINIFIIAIY 228
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- 45,000
< 13,500
2 31,500
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= 4,623
< 1,387
s 3,236
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= 4,623
< 1,387
e 3,236
03 AIE 2 0H bl 7,988 5,053 2,935
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919,042,000& *0.6291% 5,782
= 2,891
< 867
[ 2,024
O HE LRI AL 20
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O Hgdazald 131,247 ,000& *2km 262,494
< 183,746
s 78,748
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